RILRZI A — B FERR 48 4 £

A AR T P M ) al
EBRABMHIT TO, Baldr Tx
i A% T
o X
AL 2 7

"-

TRARAAEHE LK BR AT

1. (25%) A steel wire ABC supporting a lamp at its midpoint is attached to supports that are 5 fi
apart (AC, as shown below). The length of the wire is 6 ft and its diameter is 16 mils ( 1 mil =
0.001 in.). If the lamp is weight 12 Ibs, what is the tensile stress G, in the wire ABC?

2. A tensile test is performed on a brass specimen 10 mm in diameter using a gage length of 50
mm. When the tensile load P reaches a value of 20 kN, the distance between the gage marks
has increased by 0.122 mm. (a) What is the modulus of elasticity E of the brass? (13%) (b) If
the diameter decreases by 0.0083 mm, what is Poisson‘s ratio? (12%)
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3. (25%) A hollow circular column of stee] (E=
The column has length L=8.2 f and outside
allowable compressive stress is 8.1 ksi and tt
what is the required wall thickness ¢? (25%)

30,000ksi) is subjected to a compressive load P,
diameter d=8.0 in. The load P=110,000 Ib. If the
e allowable shortening of the column is 0,025 in.,
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